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Economics I   Microeconomics (EFA) 
7 February 2008    (60 min.)
Please note: 

· At first please check the exam paper: are there 6 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 
· They can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· Permitted are:  Pens, ruler, calculator (without word processing function), dictionary English-German / German-English (only book, no electronic translaters). 

· Please do not use a pencil (except in diagrams) nor red pens

· Mobile Phones have to be switched off!
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	Name:
	
	
	
	
	
	
	
	
	
	
	
	
	
	1.
	

	First Name:
	
	
	
	
	
	
	
	
	
	
	
	
	
	2.
	

	MatrikelNo:
	
	
	
	
	
	
	
	
	
	3.
	


	Age:
	
	Course:
	
	Semester: 
	
	Gender
	
	Apprenticeship (y/n)
	




Please do not enter anything below here:
	No.   /   Points:
	
	
	
	
	 Mark

	1.
	(7)
	
	
	
	
	 

	2.
	(12)
	
	
	
	
	Date:

	3.
	(12)
	
	
	
	
	

	4.
	(20)
	
	
	
	
	Signature:

	5.
	(9)
	
	
	
	
	

	
	(60)
	
	
	
	
	 


1 Basic Concepts 
[7 points]
1.1 The overall objective of every economy is to maximize Welfare. Describe this context in your own words, referring to the basic problem that forces us to operate economically. 
[2 pt]
1.2 Describe the concepts of Efficiency and Equity – which “targets” belong to them? What is the difference between the concepts and the targets?
[5 pt]


2 The Production Process
[12 points]
We described the production process in three steps (from the resources to the goods). 
2.1 Fill the dotted lines. [hints: resources: other name for these, list the three … and some examples for the third. Prod. Function: first deliver a general formula, the two types refer to the different shapes of Prod.funct. we discussed. Goods: just some examples]
[9 pt]
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2.2 Explain this model and its implications in your own words
[3 pt]


3 Markets, Efficiency and Economic concepts
[12 points]
3.1 Which types of market failure do you know? Explain/define the concepts.
[4 pt]

3.2 You where planning to spend Saturday working at your part-time job, but a friend asks you to go to a football match. What is the true cost of going to the football match?
Now suppose that you have been planning to spend the day in the library. What is the cost of going to the football match in this case?  Explain (using the appropriate economic term).
[4 pt]

3.3 Describe the advantages and problems of a command economy
[4 pt]

Advantages of a command economy

-high investment, high growth

-stable growth

-social goals pursued

-low unemployment

Problems of a command economy

-problems of gathering information

-expensive to administer

-inappropriate incentives

- shortages and surpluses


4 A firm producing exclusive yachts – being monopolist in its market segment - faces the following situation: (prices in 1 000 $ but just use the numbers below)
[20 Points]
              AR: p = 1 000 – 20 q            Cost function: TC = 1000 + 5 q²

a) Show this situation in a diagram:
( Average Return AR,    (  marginal Costs MC,   (  marginal return MR and    ( the Cournot point. 
[4 p]
(Remember to draw exactly and also remember to correctly label the axes).
[image: image4.wmf]
b) Calculate the optimal profit 
[3 Points] 

c) Compare the welfare (measured in consumers and producers surplus) in monopoly and in Perfect Competition. (Remember to draw exactly and also remember to correctly label the axes).
[5 Points]
[image: image5.wmf]
d) Compute the welfare for both cases numerically: calculate the respective consumers and producers surplus and also the welfare gain or loss. 
[6 Points]
e) Interpret the result in your own words.  
[2 Points]

5 A pizzeria intends to increase revenues. There are fixed costs of 5000 and variable costs of 2.00 per pizza. Currently 6 000 pizza are sold at a price of 5.00 Euro. Market research shows that the demand would be 6 300 at a price of 4.80 Euro and 5 700 pizza at a price of 5.20 Euro.
[9 points]
a) What is the price elasticity of demand? Is demand elastic or inelastic?
[2 points]

 = q/q / p/p = 300 / 6000  /   -0,02 / 0,50 =  5 %  / – 4 %  = – 1,25      or 

 = q/q / p/p = -300 / 6000  /   0,02 / 0,50 =  – 5 %  / 4 %  = – 1,25


b) Do you recommend an increase or a decrease of prices? Explain why.
[2 points]
decrease
because the demand is elastic (quantity-reaction > price-reaction)

c) Compute the profit before and after the change you recommended in b). Is increasing the revenue a good strategy from point of view of profit?
[3 points]
d) Sketch a typical demand curve and show the elastic and inelastic parts and explain why this is the case for normal demand functions. 
[2 points]
	[image: image6.wmf]
	















Good Luck !
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